T E

S=1:1000

. | [
‘\ . BEMMELET A=2630n2  EE  A=2620m2
| SHENER KR SMAER AR [ o |
‘ —— W150(8) L=159.5m j: R WiI50(®)t=207{4m
‘ { - RRER BRER PR ER PRI ER PR B | PR ER
<‘ W50 (&)  L=50.0m (5. Omx 10%) Tmso(ra) Lzaovdr ‘ rmso(E) Lzsomr W150 (&) L=60.Om(5]0mx 124) 1150(5)7L:9 o[
| “ | e SRR Tﬁii ‘
‘ L=154. 60m - 1=203-30m g2 —
| = \ o
s ‘ s
| 5{5 ﬁ}K? |
8o, o
oo §ﬂ%%éz‘ —=——— oo ([ =
Brs L5 vnsﬁ =g 475 iy - _—
1 } £=5-70m g 5 — E——
4 (32 mrh R E6) 4 ‘ : 450 (&) L=2.5m .
‘: Sﬁéﬁﬁﬁtﬂkﬂi L=18. 8i D | L
| | | st | i st T @ ‘
| ‘ WIBO(F) L=153. 2m ‘ W150(8) L‘EZOS Om ") ‘
\ 5 s = 5 5 s s szi5zzzr & [ - & iz s s I - .
| S EE E B B E EEEEE OEOE R OEEOEREOEOE
| 8 5 3 3 \ S 35 Slags e |8 3 i =4 B 3 3 2 \
| \ ‘ \ | ~ | -
| S BB BB B B BEREEEEE E OB B B OB B E OB B |
‘ |
| | | . N
\ \ ‘ S
| ‘ ‘ L
\ } \
‘ \ \ \ ‘
| ‘ B B
| | | | | -
bl < i Y .
=2 m [X] s=1:50
No. 2
6800
30( 3700 ‘ 3100
6000
3000 3000
BEREL L g R - WE S =@
A=0.015m2 W150 (&) t=1.5mm W150 (&) t=1.5mm W150 (&) t=1.5mm
(W=0. 3m, t=0.05m)
=1.50% _=1.50%
i F_v_g_:i[::{}“
\
6850
= ERNLIZEAS =oumm
= IE BAZEREA(20) t=50
BRERBEAT EBEHIAA & t=160mm
857kg/100m2

< AMEIERE
BERAAERE

1, 7319y +1b/100m2

)

B =i | @ » o= EZE
EE BB | SHWA4EE  HARNS
B o# 4 L
I F &|  GERLERERSEEETS
e % R R
2EE
BB A EEEER
& R = E
% = 6 #om 1

RRE®H W R KM E®R AR




~
=
2|

/,

Iy

1=100.000

KBM H:

102. 000

EZEE

H
B % |4 o
8 ® g %) m | K|E
4 | E|E = X
W K | E| % ® | ®
o b} M "] ©
=2 ¥
® £
w| | ¥ | W | W@ a0 ¥ | g
® | e
% | & =}
| e
B | ® | H|® ® - |

B OEBOE B A IR

B

RERE®T®HE R

PE E
EE
2 o
R &
B ik
|
|
|
|
|
i
0Ly 1014 FoLroleq 05 °09¢ 05026 "09+E "ON-
YLEI0L o F 6e°1014 00 '0¥E 0002 Ob+E ON.
W 0EZ 101 o o vzlol4q 00 '02¢ 00°0Z+ 0Z+E ON
|
|
|
|
1
S0Z 101 o ozl 00 '00€ 000z £oN
LLLior o AN 00 082 00°0Z+ 08+Z ON
L10°101 o F v0°10l4q 00092 00°0Z 09+Z ON.
r —+ 256 001 4 867001 00 0¥Z 00°0Z+ Ov+Z ON
r —+ 988001 4 167001 00022 0002+ 0Z+Z ON
et
202
RICE
A
r —+ 128001 4 F £8°001 00002 00021+ ZoN
/ r ~ SSL°001 4 F9L°001+ 00081 00 11+ 08+l ON
r —+ 61L°001 4 F ool 00691 0L 0L+ 69+ ON
\ se
e S
// NP 989 00
LY b 590014 06°8GL+  0L'Z 685+ ON
= ] b v9001] 00951 0LZ 1295+ oN
p b oe9001] 056511 08°6 1665+l ol
/
295001 4 57001 0L eyl 0L°€ TLEp+l ON
£¥5 001 4 857001 00 0¥ 00°0Z+ Ov+l ON
vy 001 4 F9v00l 00°0Z1 00°0Z+ 0Z+l ON
ove 001 4 927001 00001 00021+ L oN
6€2 001 4 F §z°0014 00°08 00°0Z+ 08+0 ON
811001 4 Fziool4 00°09 00°0Z 09+0 ON.
L6666 - I 00°00L - 00°0Y 00°0z+ 0Ov+0 ON
\
\
¥€6 66 - F ¢666 - 00°0Z 0002+ 0Z+0 ON
\
\
\
0L8 66 - F L8766 00°0 - 000 1+ 0oN
= =)
g g g g =
= S = = @ g g
4 S B @ = LS & ] #
0z:1 a e o b @ i g
i o N S = | =
N B = ® 4 |
ONE
%
e B R




S=1:1000

No. 0+40
GH=100. 00
FH=_99.997
i gl B ot # B
LEL T m 6.75
BEBBEET m 6.80
®E m 6.75
6750
3650 3100
e 1.51% 1.52% ne
D:i]/ e
o5
‘ 6300
DL=98. 000
No. 0+20
GH=_99.92
FH= 99.934
i il B @ 3 3
LEL T m 6.75
BEBBELET m 6.80
®E m 6.75
6750
3650 3100
A 1.51% L61s_ L,
0l = — .
I q [ wux
o
‘ 6800
DL=98. 000
No. 0
GH=_99.87
FH=_99.870
i gl B ot # B
SRERRW R m 6.75
BEBBEET m 6.80
®E m 6.75
6750
3650 3100
1.64% 1.61%
n UL 1. 6Th_
‘ 6800
DL=98. 000
= B EAETHAEAS (20)  t=50mm
BREREELET EBEERAAA:H t=160mm

No. 1
GH=100. 36
FH=100. 340
i il o o 3
LETT mn 6.80
BEMBHET m 6.85
6800 xE m 6.80
3700 3100
1.51% 1.61%
ool zag = 100 250
[ S—
wHEx
[EJJ/ e
6850
DL=98. 000
No. 0+80
GH=100. 25
FH=100. 239
i il o o 3
LETT mn 6.80
BEMBHET m 6.85
xE m 6.80
6800
3700 3100
N 1.51% 1.90%
i
6850
DL=98. 000
No. 0+60
GH=100. 12
FH=100. 118
i il B o o 3
LR m 6.75
BEMBHET m 6.80
xE m 6.75
6750
3650 3100
ol _1.51% _1.55%_
i
6800
DL=98. 000
= B EATHEAS (200 t=50mm

BEREEET BERAA - F t=160mm

No. 1+43.7
i ] B Ofu 3
AR m 6.80
BIBBBET m 6.85
6800 xE m 6.80
3700 3100
ol _1.51h
N
6850
DL=98. 000
No. 1+40
GH=100. 55
FH=100. 543
k] il i 3
AR m 6.80
BLBBBET m 6.85
6800 ®E m 6.80
3700 3100
e 1.51% 1.87%
il
e
e
6850
DL=98. 000
No. 1+20
k] il i 3
R m 6.80
BLBBBET m 6.85
6800 ®E m 6.80
3700 3100 27 x| & D % E%E
=E &5 SH4EE EAHHS
B 8 4 T LR
e 1.51% _1.35%
— I % % TR AR TS
#h # EEN R
6850
DL=98. 000
B @ 4 1
e B BHEEHEAQ0) t=50m L
BrEBEEET EAMAS A t=160m
® R I
B EE S 6 BM/M 3

RRE®H W R KM E®R AR




]

S=1:1000

No. 1+58.9 No. 2
GH=100. 65 1+567.2' GH=100. 83
FH=100. 686 KR FH=100. 821
a8 [ R a8 M| o mE
WERRE n 6.80 IR n 6.80
BERREET | 0 6.80 BEBBEET | o 6.85
6800
6800 ®E n 6.80 Y] m 6.80
RO 3700 3100 i@ 8700 3100
0.32% 0. 1.51% 1.52% 1.98% oolres 1.51% _1.65%_
olioo ols =9 oolsas ——on oolsso i
100,77
6800 6850
DL=98. 000 DL=98. 000
No. 1+56. 2 No. 1+80
GH=100. 64 1+54.6", 1+57.2 GH=100. 76
FH=100. 727 KR FH=100. 755
a8 W | w8 a9 M| o mE
MR n - MR n 6.80
BERREET | 0 6.80 BEBBEET | o 6.85
6800 xE n 6.80 6800 Y] m 6.80
’ WD 3700 3100 Bit@ ) 3700 3100
0.33% ol 1510 152 1.11% S P 1L _2.10%_
M/t_d e
‘ 10068
6800 6850
DL=98. 000 DL=98. 000
No. 1+53.5 No. 1+69
GH=100. 63 1+54.6 GH=100. 71
F 691 R ER FH=100. 719
LI ¥ | o wE a9 B | omoE
WERRRE n 6.80 AR n 6.80
BERREET | o 5.80 BEBREET | 6.85
6800 =E n 6.80 6800 =E m 6.80
185 10) 3700 3100 mft@ 3700 3100
0.26h 1.51% L52% | 1. 20% ks ool _1.51% _2.066 ]
‘ sut -y ol oolssa 5
I maLER
100,63
6801 6850
DL=98. 000 DL=98. 000
Ed I BATHEAs (20)  t=50mm 3 B BAFHEAs (20)  t=50mm
BERBEBET BAMAA:H  t=160mm REREEET BEMAIAA :H  t=160mm

No. 2+60
i il B Ofu 3
AR m 6.80
6800 BEMBREET 6.85
3700 3100 L 6%
e 1.51% 1.52%
i
6850
DL=98. 000
No. 2+40
GH=100. 98
FH=100. 952
k] il i 3
AR m 6.80
6800 BEBEBEL | o 5.85
xE 6.80
3700 3100 :
ol 1.51% 2008 ),
! s
— e
I e
6850
DL=98. 000
No. 2+20
k] il i 3
HERET n 6.80
6800 BLBBBET m 6.85
xE L] 6.80
3700 3100
29 =k | & B #® EEE
g E S a4 FE EAEE265
. B® #® % TEE LR R R
unlsso _1.51% _1.97h_
= St
00,80 I 4% TEREIRGRRMHEEETS
it £ RETRET
6850
DL=98. 000
B @ 4 2
e B BHEEHEAQ0) t=50m L
B EEBEEET RAMAK A t=160m
% R B =
B E & 5 6 ®/M 4

RRE®H W R KM E®R AR




]

3 $=1:1000

No. 3+20
GH=101. 24
FH=101. 230
i gl B ot # B
LEL T m 6.80
6800 BEBBEET m 6.85
3800 3000 R n 6.80
1.50% 1.50% )
e
TS
diki
6850
DL=98. 000
No. 3
GH=101. 21
FH=101. 205
i il B @ 3 3
LEL T m 6.80
6800 BIBEEET | n 685
3800 3000 i n 6.80
01 hag 1 50% ‘,] 5ODL 1011160
Jif
e
o ie
! 6850
DL=98. 000
No. 2+80
GH=101. 12
i gl B ot # B
Lt m 6.80
6800 BEBREET n 6.85
3750 3050 AR " 6.8
e 1.52% L67% ol
D:i]/ —] =
o o0
6850
DL=98. 000

=

I BAETHEAs (20)  t=50mm

BRERERLET REAINF:H t=160mm

No. 3+60. 5
GH=101. 47
FH=101. 470
# 3 o o 3
6800 WERHER n 6.80
BEMBHET n 6.85
3850 2950 P . s
i 1.56% 2.37%_
D:i]/ =
Toi-40
6850
DL=98. 000
No. 3+40
GH=101. 39
FH=101.374
# 3 B o o 3
6800 LR mn 6.80
BEMBHET n 6.85
3850 2950 e p 5 %0
. 1.50% 1.50%_
n 4
=
ot
6850
DL=98. 000
BAEFTHEAs (20)  t=50mm

BEREEET BERAA - F t=160mm

zw ®=m | @ B % 2F3
G BS | SM4EE HAHNSR

B oB 4 TR LN

I &| THERLERRRSEESIS
# % ERm R

B B 4 b Loigesk]

#8 R = 2N

@ E B 6 #Um 5

RRE®H W R KM E®R AR




B OE B OA IR

B

RERE®T®HE R

i
8 % m
*®) = ©
Mm 4 % &g =
i B =] [ ~
o " & | K H - ®
w| BB w & ®
No. 1+80 6.80 . . No.3+60.5  6.80 3.850 2.950 = € &
| & £
|
@ | ® | W | W@ o ®
| W
& L (=1
& #
No.1+69  6.80 il I T L
, No. 1+69
No. 1+60 6.80 No. 3+40 6. 80 | 3.850 |2.950
No 1+58 9 6 80
No.1+56.2  6.80
No.1+53.5  6.80
No. 1+43.7 6.80 o No. 1+61.5
| ! 2
No. 1+40 6. 80 | 3.700 |3.100 | No. 3+20 6. 80 | 3800 |3.000] -
I
| | (%)
£
>
ey
| |
No. 1+20 6.80 | 3.700 |3.100] No.3 680 | 3:800 |3.000]
No. 1+51.8
o , ,
Lo
N
—
I
| |
No. 1 6. 80 | 3.700 |3.100 | No.2+80  6.80 | 3. 750 |3.050)
No. 1+43.7
| |
| |
No. 0+80 6.80 | 3.700 | 3. 100 No.2+60  6.80 | 3.700 |3. 100]
| | No. 1+69
| |
No. 0+60 6.75 | 3650 | 3. 100 No.2+40  6.80 | 3.700 |3. 100]
, | 8
i
w No. 1+58.9 1.700
£
B
| , ==y
No. 0+40 6.75 3.650 | 3. 100 No.2+20  6.80 | 3.700 |3. 100]
No.0+40  6.75 | 3.650 |3.100] No. 1+53. 5
| | 2.050
| |
No. 0+20 6.75 | 3650 |3. 100 MNo.2 ~ 6.80 | 3.700 |3. 100]
| | No. 1+44.9
| |
No. 0 6.75 3,650 | 3,100 MNo.1+80  6.80 L5700 5 100]




